*RBW 10 kH=z Marker 1 [ Tl ]
*VBW 30 kH=z 51.45 dBuv
Ref 87 dBpv *Att 0 dB SWT 5 ms 26.998000000 MH=

Marker|qd [ T1 ]

50 _ 19.82 dBuv]
26.9€0000D00 MHZ
Marker| 3 [ T1 ]
1 PK LI 3
70 P == uBHYvL
27380000000 MH=z
&0
1.
50 F )
—40
—30

10 A i A fa i
—’\J\NNM VAP A W WA \
_O i
F2
F.
10 '

Center 27.12 MHz 50 kH=z/ Span 500 kHz




*RBW 10 kH=z
*VBW 30 kH=z

Marker 1 [ T1 ]
51.08 d4BpV

Ref 87 dBpv *hAtt 0 dB SWT 5 ms 27.041000000 MH=Z
Mazrker| 2 [ T1 ]
&80 5.83 dBuv
26.%360000P00 MHZ
Mzrkexr| F3 [ T1 J
B 6= FF—ABRV
27.280000000 MH=z
60
1
50 f
-40
30 !
50 !f \\
-1 0 A

w\A[L/»N&M

10

Fl

1

Center

27.12 MH=z

50 kHz/

Span 500 klz



